ITI Wireman 1st Year Module 7 Transformer AC Motors Starters
Alternator

(1). Which working principle AC generator? | AC STNeR &1 BT Rigid W%?

(A) Faraday’s laws of electro magnetic induction | WWWWW
o1 g

(B) Ohm's law | 3{1H &1 HIH
(C) Lenz's law | %1 &1 M|
(D) Faraday's laws of electrolysis | ThRTS 1 faggd sfqge &1 fAoH

Correct Answer : A

(2). What is the effect if a rotor bar of an induction motor is open circuited? | Eﬂ%

Pt TSI Hiex & e IR B 31U Fibe fHa1 ST af 1 UHIg USdr 82
(A) Motor will not start | H1ex AT -Tg! g1t

(B) Overheating of motor | HIEX T AfH ITH gIHT

(C) Vibration of shaft | RITUC T HUT

(D) Runs at slow speed | & i ¥ e g

Correct Answer : B

(3). What is the secondary voltage of PT? | WWW@I@EW%?
(A) 440V

(B) 11000V

(C) 660V

(D) 110V



Correct Answer : D

(4). What is the function of timer in automatic star delta starter? | IaTferd TR

ST IR H TR BT R HA 62

(A) Switch on at pre set time | Jd FUiRd 1T R ftad 3119 &
(B) Change from star to Delta | ¥R I Sl H URad-

(C) Switch OFF at pre set time | Jd [UiRd THT R tad 3iTth &<

(D) Trips at overload | MNARAS gAY

Correct Answer : B

(5). Why the load is disconnected before the OFF load tap changing operation? |

3T dlre U ST STURRM § Ugd dlis i i fadT i g7

(A) To provide an electrical isolation for the windings | m%mﬁﬁ'ﬁﬁ
AT Yl bl

(B) To avoid heavy sparking at the contact points | Wﬁ@\’rﬁtﬁ YR} =TT
SEESEANIY

(C) To disconnect the tappings from neutral point | %mll ﬁ?ﬁ@ﬂ%—g{ﬁ
fShde B & oy

(D) To disconnect the moving contact of the diverter | SIdeR & Tfaid dudh
DI 3T DR o [T

Correct Answer : B

(6). Which speed the centrifugal switch acts in a single phase induction motor? |

forg 1fay R AtogTat R RiffTe Tt S5 Hiek § i al g2
(A) About 70% of speed | <ITHIT 70% T




(B) About 25% of speed | CITHIT 25% Tfd
(C) About 50% of speed | ATHIT 50% Tfd
(D) At full speed | FI"T‘H"T@TI'%

Correct Answer : A

(7). What is the connection name of transformer? | @Wﬁﬁ?@nwﬁww
TH R ]?

1uJ T'I"h" Tﬂ‘h‘
1u, Lt 1E|£U\MJ‘W'2 1W1{bu‘\/\j1wi

2U Ay w,{ XN, W, W,
lzu oF- sz

(A) Star-star | IR - ¥R

(B) Star -delta | TR - Secl
(C) Delta - delta | Secl - SeTl
(D) Delta - star | STl - TR

Correct Answer : B

(8). What is the function of centrifugal switch in a capacitor start capacitor run

induction motor? | PURIER WIE HURICR I TSI HIeR T SRy o &1
S R ?

(A) Disconnect the starting capacitor | LI i o) fethae B3




(B) Disconnect the starting and running winding | TeTfe GﬁT?ﬁ"Ta'lg%"Tﬁ
fSTh-de DY

(C) Disconnect the starting winding | E”é"la'lg'%'ﬂﬁ fS¥pac &

(D) Disconnect the running winding | aﬁ?ﬁ?ﬂg%ﬂﬁ fSIhae B

Correct Answer : A

(9). Which is the application of scott connection? | ThIc B BT STANT DI
qg?

(A) Transform 3 phase to 2 phase | 3 Tol ¥ 2 ool H S iaRu]

(B) To stabilize the output voltage | 313CYc alee ol ﬁ@?ﬁ%ﬁﬂ

(C) To get rated power output | Y¢ 8 foorant S{T3cYc Urtd B %ﬁ‘m

(D) Transform 3 phase to 6 phase | 3 L\b\rl T6 Cb\,>1 H = iaRu]

Correct Answer : A

(10). Which is the function of breather in transformer? | mﬁ@%ﬁﬁm
DT ATR?

(A) Observes heat | 3sad g
(B) Indicate oil level | dd BT TR ST BT
(C) Prevents the moisture entry | THI & Y= DI AbAT

(D) Reduces tank pressure | ¢ & CaTd DI HH D]

Correct Answer : C



(11). Which test of transformer oil is illustrated? | maﬁﬁﬁqw
PPN EICERS

(A) Field test of insulating oil | gﬂﬁ?aaﬁ & TRI&T
(B) Dielectric test | 5|£s€1|"o?;cr> o

(C) Crackle test | PhHd XK

(D) Acidity test | 3TIdl UII&UT

Correct Answer : C

(12). Why the motor is not changing the direction if reverse push button is
pressed in forward and reverse control star delta starter? | 3{11I Gﬁqﬁﬂﬁﬁhﬁ

TR Seel Tk § Rad gz ge gam R HieR fawn 3t 98t 9ea 28t 82

(A) Due tointerlocking | éd%ﬂTﬁ?‘l%d‘)RUl

(B) Control circuit failure | =T gfdhe fawmeal

(C) Faulty no volt coil | W:ﬁ?ﬁﬁﬁgﬂ
(D) Faulty push button | aﬁqﬂfgmaﬂ

Correct Answer : A



(13). How the capacity of transformers are rated? | @ﬂ'@ﬁ?ﬁ EHI b
T o [T ST 82

(A) KW
(B) KVA
(C) KWH
(D) MW

Correct Answer : B

(14). Which loss is determined by conducting short circuit test? | gic gfche

TIef0T HRA J DI 1 Joa Fuffed giar g2
(A) Friction loss | ISUT 8T

(B) Windage loss | THIM &I UUTS

(C) Ironloss | g 1 g1l

(D) Copper loss | PIUR BT HHI

Correct Answer : D

(15). Which is the additional device used in automatic star delta starter than semi
automatic star delta starter? | 37¢ WA ¥R Seel €IER B Ja-T H Waled

R Seel WX B Ugad fdRead SUH0 DI 1 5?
(A) Push button station | R & }-H

(B) Timer | CIgHR
(C) OLR

(D) Number of contacts | {-iqcl’;fﬁ I

Correct Answer : B



(16). Which type of rotor is used in squirrel cage induction motor? | PO UPR &

RN BT SUINT PR ol S8R Hex H a1 1l g2
(A) Wound type | HSfcid YR

(B) Squirrel cage | &R bl

(C) Slipring type | RATRITYHR

(D) Projecting type | U&U UHR

Correct Answer : B

(17). Which type of AC 3 phase motor starter this BIS symbol represents? | dg

TTSTY Ul ford YR b1 T 3 TRUT A TSR S2Tar g?

A

(A) Star delta starter | ¥CIR Sl TSR
(B) Rheostatic starter | aRefes Wik

(C) Direct online starter | STORGT 31T'1¢1I$'1 TR

(D) Pole changing starter | Ui i TR

Correct Answer : A




(18). Which type of starter is recommended to start upto 3 HP squirrel cage

induction motors? | 3 HP WWWW@%W%WW
UHR & W P BTN &l STl 872

(A) DOL starter | DOLE'I_CYT

(B) Auto transfer starter | ?ﬂqﬁgwr&

(C) Star-delta starter | WUVE_C'E'IZFT

(D) Rotor resistance starter | e YRy wTex

Correct Answer : A

(19). Which principle the transformer works? | c;i{-llb\ll-li fhg Rigid R e™
FRATG?

(A) Self induction | T URTT

(B) Mutual induction | RIS IR0
(C) Fall of potential | WWW
(D) Lenz'slaw | @‘rﬁrwﬁvm

Correct Answer : B

(20). Which is having high efficiency? | o8 = gerars?
(A) Transformer | E;Iﬂtb_lﬁ'?

(B) Alternator | 3eEAeR

(C) AC motor | Qﬁ)ﬂ:ﬁa

(D) DC motor | S AR

Correct Answer : A



(21). What current the secondary of a CT is designed? | Udh It & fgdias &
frg wie o fowrgH fear man g2

(A) 2 Amp

(B) 3 Amp
(C) 4 Amp
(D) 5Amp

Correct Answer : D

(22). Which speed of 3-phase induction motor runs? | 3-T5o] URUT HieX &i e
3gI & e s SIrar g2

(A) Above synchronous speed | P T1d T S|
(B) Below synchronous speed | R g Tfd & =i

(C) Equal to synchronous speed | g TTfd & SRR
(D) At slip speed | g s ™

Correct Answer : B

(23). How the moisture is controlled in breather of a power transformers?

f4qgd CRIBTHR & sty o Tt &1 ol fFdifad forar S 82
(A) Using transformer oil | c;i{-llbll-lri ad BT SUINT HIAT

(B) Using silica gel | FToTRT ST T ITART BT

(C) Using sodium chloride | TIfSTH FARIZS BT SUTNT BT
(D) Using Ammonium jelly | SMAITH STt BT ITART HRAT

Correct Answer : B




(24). Which motor is used to produce high starting torque at variable speed? | dX

T TR S WIS Tl ITF B o Q1Y ford HIeR &1 IUANT fordlT STl 82
(A) Repulsion motor | T U1 AIeX

(B) Permanent capacitor motor | TITdT TR HieX

(C) 3 Phase slip ring induction motor | 3 Fall RETURI YT HeR

(D) 3 Phase single squirrel cage induction motor | 3 WWWWM

Correct Answer : C

(25). Which device in DOL starter provides effective protection against over load?

| DOL TR H DI 11 fSarsy 3ok Al o RIATh YT YRET UG &l 62
(A) Holding coil | BIfeST BId

(B) Back up fuse | S 30 TS

(C) Thermal relay | Y¥Hd fa

(D) Push button switch | G dc R

Correct Answer : C



